

# County Distribution Detail Report through 02/04/2019

#### Aurora

71010101									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,638	1,857	13	4,508	\$5,635.00	\$119.13	\$5,515.87	0.70	\$3,861.11
							Entity Tota	al:	\$3,861.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,861.11
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,781	10,172	253	13,206	\$16,507.50	\$349.57	\$16,157.93	0.70	\$11,310.55
							Entity Tota	al:	\$11,310.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$11,310.55
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	933	1,032	3	1,968	\$2,460.00	\$56.92	\$2,403.08	0.70	\$1,682.16
							Entity Tota	al:	\$1,682.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,682.16
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,207	3,791	13	6,011	\$7,513.75	\$151.75	\$7,362.00	0.70	\$5,153.40
							Entity Tota	al:	\$5,153.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,153.40

#### **Brookings**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	10,891	20,090	237	31,218	\$39,022.50	\$822.61	\$38,199.89	0.70	\$26,739.92
							Entity To	tal:	\$26,739.92
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$26,739.92
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	10,381	25,463	244	36,088	\$45,110.00	\$951.42	\$44,158.58	0.70	\$30,911.01
							Entity To	tal:	\$30,911.01
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$30,911.01
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,487	3,546	7	6,040	\$7,550.00	\$95.73	\$7,454.27	0.70	\$5,217.99
							Entity To	tal:	\$5,217.99
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$5,217.99
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	579	426	2	1,007	\$1,258.75	\$11.07	\$1,247.68	0.70	\$873.38
							Entity To	tal:	\$873.38
							Adjustme	ent:	\$0.00
							Total Ame	ount:	\$873.38
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,611	6,212	37	8,860	\$11,075.00	\$231.96	\$10,843.04	0.70	\$7,590.13
							Entity To	tal:	\$7,590.13
							Adjustme	ent:	\$0.00

Total Amount:	\$7,590.13
i otai Ailioulit.	Ψ1,000.10

\$35,863.79

\$791.21

0.70

\$25,104.65

Cam	pbe	ı
<b>-</b>	P ~ ~	

12/2018

Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	743	1,382	7	2,132	\$2,665.00	\$53.35	\$2,611.65	0.70	\$1,828.16
							Entity Tota	ıl:	\$1,828.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,828.16
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,842	5,258	18	8,118	\$10,147.50	\$174.46	\$9,973.04	0.70	\$6,981.13
							Entity Tota	ıl:	\$6,981.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,981.13
City of Box Elder, M	eade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	40	2,311	0	2,351	\$2,938.75	\$59.20	\$2,879.55	0.70	\$2,015.69
							Entity Tota	ıl:	\$2,015.69
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,015.69
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	980	2,550	282	3,812	\$4,765.00	\$121.99	\$4,643.01	0.70	\$3,250.11
							Entity Tota	ıl:	\$3,250.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,250.11
City of Sioux Falls,	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
11/2018	0	0	21	21	\$26.25	\$0.00	\$26.25	0.70	\$18.38

22,838

4,931

1,555

29,324

\$36,655.00

							-		
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$25,123.03
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,432	2,319	12	3,763	\$4,703.75	\$98.92	\$4,604.83	0.70	\$3,223.38
							Entity Tota	al:	\$3,223.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,223.38
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,820	7,126	174	9,120	\$11,400.00	\$242.44	\$11,157.56	0.70	\$7,810.29
							Entity Tota	al:	\$7,810.29
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,810.29
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	7,937	18,283	524	26,744	\$33,430.00	\$712.12	\$32,717.88	0.70	\$22,902.52
							Entity Tota	al:	\$22,902.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$22,902.52
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,350	605	6	1,961	\$2,451.25	\$50.44	\$2,400.81	0.70	\$1,680.57
							Entity Tota	al:	\$1,680.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,680.57
Custer									

Entity Total:

\$25,123.03

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	3,659	5,192	44	8,895	\$11,118.75	\$246.79	\$10,871.96	0.70	\$7,610.37
							Entity Tota	al:	\$7,610.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,610.37
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	5,448	13,493	187	19,128	\$23,910.00	\$496.21	\$23,413.79	0.70	\$16,389.65
							Entity Tota	al:	\$16,389.65
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,389.65
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,248	3,474	8	5,730	\$7,162.50	\$145.22	\$7,017.28	0.70	\$4,912.10
							Entity Tota	al:	\$4,912.10
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,912.10
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,891	2,837	11	4,739	\$5,923.75	\$126.27	\$5,797.48	0.70	\$4,058.24
							Entity Tota	al:	\$4,058.24
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,058.24
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,347	2,117	7	3,471	\$4,338.75	\$82.71	\$4,256.04	0.70	\$2,979.23
							Entity Tota	al:	\$2,979.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,979.23

### **Edmunds**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,401	2,812	16	4,229	\$5,286.25	\$106.31	\$5,179.94	0.70	\$3,625.96
							Entity Tota	al:	\$3,625.96
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,625.96
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	3,526	4,357	22	7,905	\$9,881.25	\$202.13	\$9,679.12	0.70	\$6,775.38
							Entity Tota	al:	\$6,775.38
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,775.38
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	893	1,401	13	2,307	\$2,883.75	\$59.37	\$2,824.38	0.70	\$1,977.07
							Entity Tota	al:	\$1,977.07
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,977.07
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,367	5,133	20	7,520	\$9,400.00	\$191.44	\$9,208.56	0.70	\$6,445.99
							Entity Tota	al:	\$6,445.99
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,445.99
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,971	3,412	14	5,397	\$6,746.25	\$145.73	\$6,600.52	0.70	\$4,620.36
							Entity Tota	al:	\$4,620.36
							Adjustme	nt:	\$0.00

Total Amount:	\$4,620.36
. otal / lilloaliti	Ψ :,0=0.00

Haakon
--------

110011011									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,076	1,342	5	2,423	\$3,028.75	\$60.68	\$2,968.07	0.70	\$2,077.65
							Entity Tota	ıl:	\$2,077.65
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,077.65
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,804	3,561	9	5,374	\$6,717.50	\$134.68	\$6,582.82	0.70	\$4,607.97
							Entity Tota	ıl:	\$4,607.97
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,607.97
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,196	2,663	13	3,872	\$4,840.00	\$99.35	\$4,740.65	0.70	\$3,318.46
							Entity Tota	ıl:	\$3,318.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,318.46
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	993	2,900	22	3,915	\$4,893.75	\$101.42	\$4,792.33	0.70	\$3,354.63
							Entity Tota	ıl:	\$3,354.63
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,354.63
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	717	849	1	1,567	\$1,958.75	\$49.46	\$1,909.29	0.70	\$1,336.50

							Littly 10ta	11.	φ1,330.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,336.50
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	4,575	14,047	196	18,818	\$23,522.50	\$504.75	\$23,017.75	0.70	\$16,112.43
							Entity Tota	al:	\$16,112.43
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,112.43
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	3,207	4,919	48	8,174	\$10,217.50	\$223.05	\$9,994.45	0.70	\$6,996.12
							Entity Tota	al:	\$6,996.12
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,996.12
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	722	1,060	5	1,787	\$2,233.75	\$45.45	\$2,188.30	0.70	\$1,531.81
							Entity Tota	al:	\$1,531.81
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,531.81
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	694	844	4	1,542	\$1,927.50	\$38.71	\$1,888.79	0.70	\$1,322.15
							Entity Tota	al:	\$1,322.15
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,322.15
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

**Entity Total:** 

\$1,336.50

12/2018	934	1,200	5	2,139	\$2,673.75	\$54.85	\$2,618.90	0.70	\$1,833.23
							Entity Total	l:	\$1,833.23
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,833.23
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	588	657	6	1,251	\$1,563.75	\$31.35	\$1,532.40	0.70	\$1,072.68
							Entity Total	l:	\$1,072.68
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,072.68
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,372	3,906	54	5,332	\$6,665.00	\$136.74	\$6,528.26	0.70	\$4,569.78
							Entity Total	l:	\$4,569.78
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,569.78
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,880	9,044	80	12,004	\$15,005.00	\$317.53	\$14,687.47	0.70	\$10,281.23
							Entity Total	l:	\$10,281.23
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$10,281.23
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	8,116	16,084	189	24,389	\$30,486.25	\$634.55	\$29,851.70	0.70	\$20,896.19
							Entity Total	l:	\$20,896.19
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$20,896.19
Lincoln									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	4,401	22,319	1,433	28,153	\$35,191.25	\$766.50	\$34,424.75	0.70	\$24,097.33
							Entity Tota	al:	\$24,097.33
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$24,097.33
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,311	1,715	6	3,032	\$3,790.00	\$83.99	\$3,706.01	0.70	\$2,594.21
							Entity Tota	al:	\$2,594.21
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,594.21
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,892	2,750	9	4,651	\$5,813.75	\$119.78	\$5,693.97	0.70	\$3,985.78
							Entity Tota	al:	\$3,985.78
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,985.78
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,403	4,133	16	6,552	\$8,190.00	\$164.45	\$8,025.55	0.70	\$5,617.89
							Entity Tota	al:	\$5,617.89
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$5,617.89
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,042	1,520	4	2,566	\$3,207.50	\$76.41	\$3,131.09	0.70	\$2,191.76
							Entity Tota	al:	\$2,191.76
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,191.76

#### Meade

Moddo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	3,909	16,644	285	20,838	\$26,047.50	\$556.64	\$25,490.86	0.70	\$17,843.60
							Entity Tot	al:	\$17,843.60
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$17,843.60
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	639	659	0	1,298	\$1,622.50	\$32.46	\$1,590.04	0.70	\$1,113.03
							Entity Tot	al:	\$1,113.03
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,113.03
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,041	1,570	4	2,615	\$3,268.75	\$65.66	\$3,203.09	0.70	\$2,242.16
							Entity Tot	al:	\$2,242.16
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,242.16
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	45,783	144,141	2,346	192,270	\$240,337.50	\$5,105.60	\$235,231.90	0.70	\$164,662.33
							Entity Tot	al:	\$164,662.33
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$164,662.33
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,524	4,510	24	6,058	\$7,572.50	\$177.72	\$7,394.78	0.70	\$5,176.35
							Entity Tot	al:	\$5,176.35
							Adjustme	nt:	\$0.00

Total Amount:	\$5,176.35

# Pennington

12/2018

3,817

4,809

16

8,642

\$10,802.50

\$238.07

\$10,564.43

0.70

\$7,395.10

g									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
4/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
5/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
6/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
7/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
8/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
9/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
10/2018	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
11/2018	0	0	23	23	\$28.75	\$0.00	\$28.75	0.70	\$20.13
12/2018	26,942	75,230	1,692	103,864	\$129,830.00	\$2,805.39	\$127,024.61	0.70	\$88,917.23
							Entity Tota	ıl:	\$88,986.40
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$88,986.40
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,782	2,275	6	4,063	\$5,078.75	\$111.56	\$4,967.19	0.70	\$3,477.03
							Entity Tota	ıl:	\$3,477.03
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$3,477.03
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	1,280	1,733	7	3,020	\$3,775.00	\$75.72	\$3,699.28	0.70	\$2,589.50
							Entity Tota	ıl:	\$2,589.50
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$2,589.50
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

							Adjustment:		\$0.00
							Total Amo	ount:	\$7,395.10
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	892	1,760	10	2,662	\$3,327.50	\$66.77	\$3,260.73	0.70	\$2,282.51
							Entity Tota	al:	\$2,282.51
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,282.51
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,045	4,458	13	6,516	\$8,145.00	\$166.71	\$7,978.29	0.70	\$5,584.80
							Entity Tota	al:	\$5,584.80
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,584.80
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	748	2,130	14	2,892	\$3,615.00	\$75.42	\$3,539.58	0.70	\$2,477.71
							Entity Tota	al:	\$2,477.71
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,477.71
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	748	1,133	4	1,885	\$2,356.25	\$47.18	\$2,309.07	0.70	\$1,616.35
							Entity Tota	al:	\$1,616.35
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,616.35
Todd									

\$7,395.10

Entity Total:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	0	52	2	54	\$67.50	\$9.87	\$57.63	0.70	\$40.34
							Entity Tota	al:	\$40.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$40.34
ripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,734	3,814	17	6,565	\$8,206.25	\$168.01	\$8,038.24	0.70	\$5,626.77
							Entity Tota	al:	\$5,626.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,626.77
urner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,356	6,036	18	8,410	\$10,512.50	\$211.97	\$10,300.53	0.70	\$7,210.37
							Entity Tota	al:	\$7,210.37
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,210.37
Jnion									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	3,366	10,734	406	14,506	\$18,132.50	\$433.17	\$17,699.33	0.70	\$12,389.53
							Entity Tota	al:	\$12,389.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,389.53
Valworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	2,241	3,564	71	5,876	\$7,345.00	\$148.71	\$7,196.29	0.70	\$5,037.40
							Entity Tota	al:	\$5,037.40
							Adjustmer	nt:	\$0.00
									\$5,037.40

## Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2018	5,564	15,482	213	21,259	\$26,573.75	\$548.62	\$26,025.13	0.70	\$18,217.59
							Entity Total	:	\$18,217.59
							Adjustment	:	\$0.00
							Total Amou	nt:	\$18,217.59
Totals	229,668	575,736	11,082	816,486	\$ 1,020,607.50	\$ 21,585.42	\$ 999,022.08		